SIMPLIFYING ALGEBRAIC EXPRESSIONS
Simplify each expréssion by collecting the like terms.

1 3x+5+7x+10 2 7x-3+3x-2 3 4a+b—-a-4b
= [0x+15 = 0x- 95 =$a—Sb
4 6ab+ 3ab+5a+4a 5 3xy+ 2xy - yx 6 3a’b-3ab’ +2a’h
%
=9ab +9a ] 4—7,5 =5a%b -3ab
7 2y + 30 = Py + 3% 8 3abc+ 5bca — 2cba 9 12mn+3m-—6mn-m
:2;23+67L2(7" = 6abc —Emn +2m
Simplify each expression by expanding the brackets and then collecting the like terms.
12 5a-3(a+b) 13 4(2x-y)-6x 14 8m - 5(2m - 3n)
= S -2 -3b ;81-—4—3—69{. - 8m - 10m + I1Sn
:Z&—gb :2%“4’3 ::.—-Z_M"‘ISV\
18 S5a(a+2)-3ala+1) 19 5x(x-2y) +3x(2x-y) 20 2a+3b-(a-b)
= 502+ 100 —=3a2-2a) =92 =[0xy+6x*-31y) = 2. +3b-a +b
- 202 +Fa = ll22- 13xy = o+ 4b
21 x+5y—(3x+2y) 22 5x(2x+1) = (x* +x) 23 15(x—2) +4(3x-3)
= 2:"53 =S ‘ZC‘} =093 +51 -2 -2 =15x-30 +12x -I2
- _21"!—3)() = Ix*r + 4x = 2Fx - 42

2
_otta—-6a-3=Q -Sa. -3
27 The expression a(a + 1) — 3(2a + 1) simplifies to: -

A d-7a-3 B a’-5a+3 @az—Sa—3 D a*-7a+3

28 The expression 3(m? —m) = 2(m> +2m +5) simplifies to:

A 5m-7m-10  [B] m-7m-10 C m+m-10 D m-7m+10
= 3mr-awm —2Zmr-bm—10
= W\L-?W\-"‘IO
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